
Designed for

Demanding environments
Waterproof NG bearing units & stainless steel bearing units

Customisation is our standard

www.bj-gear.com



BEARING UNITS

CUSTOMISATION IS OUR STANDARD2

Bearing design
BJ-Gear A/S offers two types of bearing units; 
NG waterproof bearing units and stainless steel bearing 
units. 

The bearing units are designed for the food industry and 
other industries with continuously stringent demands on 
material resistance and an easy-to-clean design. 

Our NG bearing units are waterproof, and to reduce the risk 
of bacteria growth, the design is characterised by a smooth 

surface and rounded corners. The NG bearings are mainten-
ance free and resistant to all cleaning products and to most 
chemicals. 

The protection is IP66 & IP67 ensuring that the products can 
be cleaned from all directions. 
IP68 and IP69K on request.



BEARING UNITS

3CUSTOMISATION IS OUR STANDARD 3CUSTOMISATION IS OUR STANDARD

Waterproof NG  bearing units
Features and advantages:

•  Compact and strong flange house with the cover bolted 
to the bearing housing. 

•  The flange housing is made of Baydur, which is of 
extreme stability and strength.

•  Grease nipples, M6x1, of stainless steel for optimal 
food grade grease filling, prevents condensation in the 
bearing housing.

•  The flange housing is mounted with a spherical NG life-
time lubricated ball bearing with eccentric locking collar.

• Self-aligning. 
 
 
 

• Measurements are similar to market standards.

• The flange housing can be mounted in all angles.

•  Stainless spherical radial insert bearings for an easy 
and precise assembly.

•  Insert bearings are lubricated with NSF H1 reg. grease 
according to DIN 51825, Halal, Kosher etc.

• Private label available.

•  FDA food grade according to the framework of 
regulation 21 CFR 175.300. 

•  EU approved according to the European 
Parliament and of the Council Regulation (EC) 
No. 1935/2004 of October 27th on materials 
and object in contact with food. 

•  The flange bearings are USDA accepted and 
meets the NSF/ANSI/3-A 14159-1-2010 
standard.



BEARING UNITS

CUSTOMISATION IS OUR STANDARD4

Technical specifications & drawings 
NG bearing units
Manufactured in Denmark

NG spherical radial insert bearing with:

• Stainless steel inner ring

• Adjustable stainless cover ring

• Stainless steel eccentric locking collar

• Stainless steel P-sealings

The construction permits a
misalignment of the bearing, 

of up to +/-3°

Technical specifications

1. Outer ring 1. Outer ring

2. Inner ring 2. Inner ring

3. Cover ring 3. Cover ring

4. Eccentric collar 4. Eccentric collar

5. Sealings 5. Sealings

6. Grease 6. Grease

Operating temperature: -30°C to +100°C briefly.

Technical
specifications NG 20 NG 25 NG 30 NG 35 NG 40 NG 50 NG 60

d [mm] 20.00 25.00 30.00 35.00 40.00 50.00 60.00

D [mm] 55.00 62.00 72.00 80.00 90.00 100.00 120.00

B [mm] 31.50 32.00 37.20 40.00 45.20 46.50 55.30

C [mm] 16.00 17.00 21.00 21.00 25.00 26.00 28.00

E [mm] 33.00 37.50 44.00 51.00 58.00 70.00 83.50

m [kg] 0.24 0.31 0.49 0.64 0.89 1.07 1.78

Cr [kN] 9.88 10.78 14.97 19.75 22.71 30.01 35.28

Cor [kN] 6.20 6.98 10.04 13.67 15.94 22.53 26.18

m (mass); Cr (basic dynamic load, radial); Cor (basic static load, radial)

0
Ø

D
 - 

0.
 0

5

0
B - 0. 20

0

1

6

2

3 5 4
C - 0. 12

Ø
d

Ø
E



BEARING UNITS

5CUSTOMISATION IS OUR STANDARD

Waterproof

F4 - 4-bolt flange bearing units

Technical specifications & drawings

TYPE F4 Item no.
closed cover

Item no. 
open cover A B C E S X i n N Weight 

[kg]

Ø20 mm NG20F40 NG20F41 86 63.5 51 22.5 9 43 11 0.5 31.0 0.52

Ø25 mm NG25F40 NG25F41 95 70.0 52 22.5 9 44 11 0.5 31.5 0.63

Ø30 mm NG30F40 NG30F41 108 82.5 58 22.5 11 48 11 0.5 36.7 0.91

Ø35 mm NG35F40 NG35F41 118 92.0 60 22.5 13 50 11 0.5 39.4 1.10

Ø40 mm NG40F40 NG40F41 130 101.5 65 22.5 13 56 11 0.5 44.7 1.50

Ø50 mm NG50F40 NG50F41 143 111.0 70 26.5 16 58 12 0.5 46.0 1.84

Ø60 mm NG60F40 NG60F41 175 143.0 82 28.5 18 70 15 0.5 54.8 3.09

All measurements are in millimeters. When ordering please use the catalogue numbers.

C-C ( 1 : 1 )

C

C

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 25-F4 C, FLANGELEJE
LUKKET, KOMPLET
NG 2000-25 1L

NG25F40

A3

01-10-2013

FJE

0,39 kg

 

2 2  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

n N

A

A

B

B

C

D

E

20

S

i

A-A ( 1 : 1 )

B-B ( 1 : 1 )

Ki820035Forskruning M6/M8, L=12, lang19
KI820055DIN 933-A2 M6X25 Rustfri sætskrue48
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=255 mm16
KI810010NG Logo, DK 20 lukket15
KI802070Olietætningsring Nitrill; 203007 CC14
KI802050NG PE leje ø20, incl. excentrick13
KI802020NG 20-F4, Flangelejehus12
KI802010NG 20-F4 Endedæksel lukket11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-F4 Flangeleje, komplet
lukket med leje PE20

NG 20-F4 C

A3

01-10-2013

FJE

0,33 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

7

9

432

6

8

B
A

A

S

E

X

C

1

5

A-A ( 1 : 1 )

B-B ( 1 : 1 )

Ki820035Forskruning M6/M8, L=12, lang19
KI820055DIN 933-A2 M6X25 Rustfri sætskrue48
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=255 mm16
KI810010NG Logo, DK 20 lukket15
KI802070Olietætningsring Nitrill; 203007 CC14
KI802050NG PE leje ø20, incl. excentrick13
KI802020NG 20-F4, Flangelejehus12
KI802010NG 20-F4 Endedæksel lukket11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-F4 Flangeleje, komplet
lukket med leje PE20

NG 20-F4 C

A3

01-10-2013

FJE

0,33 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

7

9

432

6

8

B
A

A

S

E

X

C

1

5



BEARING UNITS

CUSTOMISATION IS OUR STANDARD6

TYPE FBL Item no.
closed cover

Item no. 
open cover A B C D E F G H I S Weight

[kg]

Ø20 mm NG20F30 NG20F31 109.2 38,1 51 93 22.5 29 22,2 42,9 42,9 11.5 0.264

Ø25 mm NG25F30 NG25F31 123.5 41,3 52 100 22.5 30 28,6 46 46 11.5 0.316

Ø30 mm NG30F30 NG30F31 140.5 47,6 58 110 22.5 34 31,8 52,4 52,4 11.5 0.437

Ø35 mm NG35F30 NG35F31 156.5 50,2 60 118 22.5 33.5 31,8 60 60,3 13.5 0.509

Ø40 mm NG40F30 NG40F31 166 50,8 66 128 22.5 38 32 60,3 60 13.5 0.639

All measurements are in millimeters. When ordering please use the catalogue numbers.

B

B

A A

A

B

C

( 1 : 2 )

E

F

D

3x Ø13,5 THRU

G I

A-A ( 1 : 1 )

B-B ( 1 : 1 )Ø40 3 5

2

1

4

7 8 6

9

Technical specifications & drawings

Waterproof

F3 - 3-bolt flange bearing units



BEARING UNITS

7CUSTOMISATION IS OUR STANDARD

TYPE F2 Item no.
closed cover

Item no.
open cover A B C D E S X i n N Weight 

[kg]

Ø20 mm NG20F20 NG20F21 116 90 51 75 22.5 9 43 11 0.5 31.0 0.43

Ø25 mm NG25F20 NG25F21 123 99 52 79 22.5 9 44 11 0.5 31.5 0.51

Ø30 mm NG30F20 NG30F21 145 117 58 90 22.5 11 48 11 0.5 36.7 0.77

Ø35 mm NG35F20 NG35F21 160 130 60 99 22.5 13 50 11 0.5 39.4 0.99

Ø40 mm NG40F20 NG40F21 174 144 65 110 22.5 13 56 11 0.5 44.7 1.30

Ø50 mm NG50F20 NG50F21 197 157 70 125 26.5 17.5 58 12 0.5 46.0 1.60

Ø60 mm NG60F20 NG60F21 250 202 82 152 28.5 22 70 15 0.5 54.8 2.82

All measurements are in millimeters. When ordering please use the catalogue numbers.

F2 - 2-bolt flange bearing units

Technical specifications & drawings

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820005NG O-Ring snor i tromle, L=220 mm19
KI820055DIN 933-A2 M6X25 Rustfri sætskrue28
Ki820035Forskruning M6/M8, L=12, lang17
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN16
KI810010NG Logo, DK 20 lukket15
KI802070Olietætningsring Nitrill; 203007 CC14
KI802050NG PE leje ø20, incl. excentrick13
KI802120NG 20-F2, Flangelejehus12
KI802110NG 20-F2 Endedæksel lukket11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-F2 Flangeleje
lukket med leje PE 20

NG 20-F2 C

A3

30-09-2013

FJE

0,24 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

2

3

9

8

7

6

B E

X
C

S

A

D

1

5

4

A-A ( 1 : 1 )

A

A

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-F2 C, FLANGELEJE
LUKKET, KOMPLET
NG 2000-21 1L

NG20F20

A3

30-09-2013

FJE

0,24 kg

 

  1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

F

G

H

A

B

C

E

D

S

n N
i

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820005NG O-Ring snor i tromle, L=220 mm19
KI820055DIN 933-A2 M6X25 Rustfri sætskrue28
Ki820035Forskruning M6/M8, L=12, lang17
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN16
KI810010NG Logo, DK 20 lukket15
KI802070Olietætningsring Nitrill; 203007 CC14
KI802050NG PE leje ø20, incl. excentrick13
KI802120NG 20-F2, Flangelejehus12
KI802110NG 20-F2 Endedæksel lukket11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-F2 Flangeleje
lukket med leje PE 20

NG 20-F2 C

A3

30-09-2013

FJE

0,24 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

2

3

9

8

7

6

B E

X
C

S

A

D

1

5

4

Waterproof



BEARING UNITS

CUSTOMISATION IS OUR STANDARD8

A-A ( 1 : 1 )

A

A

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 35-SF2 C, STÅLEJE
LUKKET, KOMPLET
NG 2000-38 1L

NG35SF20

A3

23-10-2013

FJE

0,41 kg

 

  1  

2:3

 

Copyright © BJ-Gear A/S. All product rights reserved

45°

F

G

C

R

H

B

S2 

D

E

S1
 

A

n

i
N

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820045DIN 933-A2 M5X25 Rustfri sætskrue210
KI820040Forskruning M6/M10, L=819
KI820030Forskruning M5/ø6,5, L=1128
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=16
KI810010NG Logo, DK 20 lukket15
KI802320NG 20-SF2 Stålejehus14
KI802210NG 20-S2/SF2 Endedæksel lukket13
KI802070Olietætningsring Nitrill; 203007 CC12
KI802050NG PE leje ø20, incl. excentrick11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-SF2 Ståleje, komplet
lukket med leje PE20

NG 20-SF2 C

A3

22-10-2013

FJE

0,21 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

E

D

B
A

F

S2

S

214

6
8

10

7

H

3

9

X
C

5

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820045DIN 933-A2 M5X25 Rustfri sætskrue210
KI820040Forskruning M6/M10, L=819
KI820030Forskruning M5/ø6,5, L=1128
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=16
KI810010NG Logo, DK 20 lukket15
KI802320NG 20-SF2 Stålejehus14
KI802210NG 20-S2/SF2 Endedæksel lukket13
KI802070Olietætningsring Nitrill; 203007 CC12
KI802050NG PE leje ø20, incl. excentrick11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-SF2 Ståleje, komplet
lukket med leje PE20

NG 20-SF2 C

A3

22-10-2013

FJE

0,21 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

E

D

B
A

F

S2

S

214

6
8

10

7

H

3

9

X
C

5

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820045DIN 933-A2 M5X25 Rustfri sætskrue210
KI820040Forskruning M6/M10, L=819
KI820030Forskruning M5/ø6,5, L=1128
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=16
KI810010NG Logo, DK 20 lukket15
KI802320NG 20-SF2 Stålejehus14
KI802210NG 20-S2/SF2 Endedæksel lukket13
KI802070Olietætningsring Nitrill; 203007 CC12
KI802050NG PE leje ø20, incl. excentrick11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-SF2 Ståleje, komplet
lukket med leje PE20

NG 20-SF2 C

A3

22-10-2013

FJE

0,21 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

E

D

B
A

F

S2

S

214

6
8

10

7

H

3

9

X
C

5

TYPE SF2 Item no.
closed cover

Item no. 
open cover A B C D E F H S S2 X i n N Weight 

[kg]

Ø20 mm NG20SF20 NG20SF21 127 95 52 67 14 33.5 33.3 9 13.5 43 27 4.5 38 0.42

Ø25 mm NG25SF20 NG25SF21 140 105 53 73 15 34.5 36.5 9 13.5 44 28 4.0 39 0.51

Ø30 mm NG30SF20 NG30SF21 160 121 59 85 17 38.5 42.9 11 16.5 48 34 3.2 45 0.77

Ø35 mm NG35SF20 NG35SF21 167 127 60 93 18 38.5 47.6 13 19.5 52 35 4.9 46 0.93

Ø40 mm NG40SF20 NG40SF21 184 137 66 100 18 42.5 49.2 13 19.5 54 40 5.2 51 1.30

All measurements are in millimeters. When ordering please use the catalogue numbers.

SF2 - 2-bolt pillow block bearing units
Waterproof

Technical specifications & drawings



BEARING UNITS

9CUSTOMISATION IS OUR STANDARD

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820045DIN 933-A2 M5X25 Rustfri sætskrue210
KI820040Forskruning M6/M10, L=819
KI820030Forskruning M5/ø6,5, L=1128
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=16
KI810010NG Logo, DK 20 lukket15
KI802220NG 20-S2 Ståleje, bearbejdet14
KI802210NG 20-S2/SF2 Endedæksel lukket13
KI802070Olietætningsring Nitrill; 203007 CC12
KI802050NG PE leje ø20, incl. excentrick11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-S2 Ståleje, komplet
lukket med leje PE20

NG 20-S2 C

A3

21-01-2014

FJE

0,19 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

B
A

F

X
C

S

214

6

10

79

D
H

3

8

5

A-A ( 1 : 1 )
A

A

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 35-S2 C, STÅLEJE
LUKKET, KOMPLET
NG 2000-37 1L

NG35S20

A3

22-10-2013

FJE

0,37 kg

 

  1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

B

A

F

G

C

H

D

45°

S

nN
i

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820045DIN 933-A2 M5X25 Rustfri sætskrue210
KI820040Forskruning M6/M10, L=819
KI820030Forskruning M5/ø6,5, L=1128
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=16
KI810010NG Logo, DK 20 lukket15
KI802220NG 20-S2 Ståleje, bearbejdet14
KI802210NG 20-S2/SF2 Endedæksel lukket13
KI802070Olietætningsring Nitrill; 203007 CC12
KI802050NG PE leje ø20, incl. excentrick11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-S2 Ståleje, komplet
lukket med leje PE20

NG 20-S2 C

A3

21-01-2014

FJE

0,19 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

B
A

F

X
C

S

214

6

10

79

D
H

3

8

5

A-A ( 1 : 1 )

B-B ( 1 : 1 )

KI820045DIN 933-A2 M5X25 Rustfri sætskrue210
KI820040Forskruning M6/M10, L=819
KI820030Forskruning M5/ø6,5, L=1128
KI820010DIN 71412-A2 Smørenippel M6x1,0 SN17
KI820005NG O-Ring snor i tromle, L=16
KI810010NG Logo, DK 20 lukket15
KI802220NG 20-S2 Ståleje, bearbejdet14
KI802210NG 20-S2/SF2 Endedæksel lukket13
KI802070Olietætningsring Nitrill; 203007 CC12
KI802050NG PE leje ø20, incl. excentrick11

VarenummerNavnAntalPos.

Tel.: +45 87 40 80 80       www.bj-gear.com
Beskrivelse / Description:

Tegn. nr. / Drawing id.: Rev.:

Side / Page:

 
/

Format:

Sign.:

Målforhold /Scale:

Materiale / Material:

Vægt / Weight:

Standard:

Ikke tolerancesatte mål iht. DS/ISO 2768-f.
Skarpe kanter rejfes.
Non-toleranced measures acc. DS/ISO 2768-f.
Deburr sharp edges.

Ovenstående gælder kun produktionstegninger.
The above stated only applies production drawings.

Dato / Date:

=

=

=

=

=

=

u

v

w

x

y

z
U Ra 18
L Ra 8

Indstikslibes
U Ra 0.5
L Ra 0.3

Ra 1.6

Ra 3.2

Ra 6.3

bj-gear

NG 20-S2 Ståleje, komplet
lukket med leje PE20

NG 20-S2 C

A3

21-01-2014

FJE

0,19 kg

 

1 1  

1:1

 

Copyright © BJ-Gear A/S. All product rights reserved

B
A

F

X
C

S

214

6

10

79

D
H

3

8

5

TYPE S2 Item no.
closed cover

Item no. 
open cover A B C D F H S X i n N Weight 

[kg]

Ø20 mm NG20S20 NG20S21 79 50.8 52 67 33.5 33.3 M8 38 27 4.5 31.0 0.40

Ø25 mm NG25S20 NG25S21 87 50.8 53 73 34.5 36.5 M8 39 28 4.0 31.5 0.50

Ø30 mm NG30S20 NG30S21 100 76.2 59 85 38.5 42.9 M10 45 34 3.2 36.7 0.80

Ø35 mm NG35S20 NG35S21 110 82.6 60 93 38.5 47.6 M12 52 35 4.9 46.0 0.94

Ø40 mm NG40S20 NG40S21 122 88.9 66 100 42.5 49.2 M12 58 40 5.2 51.0 1.30

All measurements are in millimeters. When ordering please use the catalogue numbers.

S2 - 2-bolt pillow block bearing units with thread
Waterproof

Technical specifications & drawings



BEARING UNITS

CUSTOMISATION IS OUR STANDARD10

Stainless steel bearing units
The stainless steel bearing units are very suitable for the food industry and other demanding environments, due to the hygi-
enic design and minimum of maintenance. The mini stainless steel bearings are extra narrow bearings in hygienic design.

Features and advantages:

• Stainless steel housings AISI 304

• Stainless steel bearings AISI 440C

•  Stainless steel grease nipples AISI 
440C

• No surface coating are required

• Excellent life span

• Screw set lock

•  Operating temperature from  
-20° to +120°C

•  Maintenance free except regular  
greasing when needed

Type of grease nipples:

Type: Straight stainless 
• (Standard)

• Size: M6x1 mm 

• Catalogue no.: KI820010

Type: 45º stainless
• Size: M6x1 mm 

• Catalogue no.: KI820015

Type: 90º stainless
• Size: M6x1 mm 

• Catalogue no.: KI820020

Features and advantages, 
the mini bearings:

• Stainless steel housings AISI 304

•  Stainless steel bearings AISI 
440C

• Sealings NBR

• Narrow bearings

• No surface coating are required

• Eccentric collar lock

Item no. d a e i g l s z B n Bolt
size

Weight
[kg] 

SUCF204S 20 86 64 15 12 25.5 12 33.3 31.0 12.7 M10 0.56

SUCF205S 25 95 70 16 14 27 12 35.8 34.1 14.3 M10 0.84

SUCF206S 30 108 83 18 14 31 12 40.2 38.1 15.9 M10 1.15

SUCF207S 35 117 92 19 16 34 14 44.4 42.9 17.5 M12 1.52

SUCF208S 40 130 102 21 16 36 16 51.2 49.2 19.0 M14 1.88

SUCF209S 45 137 105 22 18 38 16 52.2 49.2 19.0 M14 2.25

SUCF210S 50 143 111 22 18 40 16 54.6 51.6 19.0 M14 2.54

SUCF211S 55 162 130 25 20 43 19 58.4 55.6 22.2 M16 3.46

SUCF212S 60 175 143 29 20 48 19 68.7 65.1 25.4 M16 4.41

All measurements are in millimeters. When ordering please use the catalogue numbers.

SF - 4-bolt stainless steel flange bearing units



BEARING UNITS

11CUSTOMISATION IS OUR STANDARD

Item No. d a e i g l S b z B n Bolt size Weight  
[kg]

SUCFL204S 20 113 90 15 11 25.5 12 60 33.3 31.0 12.7 M10 0.41

SUCFL205S 25 130 99 16 13 27 16 68 35.8 34.1 14.3 M14 0.62

SUCFL206S 30 148 117 18 13 31 16 80 40.2 38.1 15.9 M14 0.89

SUCFL207S 35 161 130 19 14 34 16 90 44.4 42.9 17.5 M14 1.14

SUCFL208S 40 175 144 21 14 30 16 90 51.2 49.2 19.0 M14 1.48

SUCFL209S 45 188 148 22 15 38 19 108 52.2 49.2 19.0 M16 1.84

SUCFL210S 50 197 157 22 15 40 19 115 54.6 51.6 19.0 M16 2.22

SUCFL211S 55 224 184 25 18 43 19 130 58.4 55.6 22.2 M16 3.06

SUCFL212S 60 250 202 29 18 48 23 140 68.7 65.1 25.4 M20 3.87

All measurements are in millimeters. When ordering please use the catalogue numbers.

Item No. d h a e b S1 S2 g w B n Bolt size Weight  
[kg]

SUCP204S 20 33.3 127 95 38 13 19 14 65 31.0 12.7 M10 0.66

SUCP205S 25 36.5 140 105 38 13 19 15 71 34.1 14.3 M10 0.85

SUCP206S 30 42.9 165 121 48 17 20 17 84 38.1 15.9 M14 1.27

SUCP207S 35 47.6 167 127 48 17 20 18 93 42.9 17.5 M14 1.64

SUCP208S 40 49.2 184 137 54 17 20 18 100 49.2 19.0 M14 1.93

SUCP209S 45 54.0 190 146 54 17 20 20 106 49.2 19.0 M16 2.24

SUCP210S 50 57.2 206 159 60 20 23 21 113 51.6 19.0 M16 2.78

SUCP211S 55 63.5 219 171 60 20 23 23 125 55.6 22.2 M16 3.46

SUCP212S 60 69.8 241 184 70 20 23 25 138 65.1 25.4 M16 5.03

All measurements are in millimeters. When ordering please use the catalogue numbers.

SFL - 2-bolt stainless steel flange bearings

SP - Stainless steel pillow block bearings



BEARING UNITS

CUSTOMISATION IS OUR STANDARD12

Item no. d a e i g l s b Z B n Bolt size Weight  
[kg]

MKFL000 10 60 45 5.5 5.5 11.5 7 36 15.5 14 4.0 M6 0.06

MKFL001 12 63 48 5.5 5.5 11.5 7 38 16.0 14.5 4.0 M6 0.07

MKFL002 15 67 53 6.5 6.5 13 7 42 18.6 16.5 4.5 M6 0.10

MKFL003 17 71 56 7.0 7.0 14 7 46 19.5 17.5 5.0 M6 0.13

MKFL004 20 90 71 8.0 8.0 16 10 55 23.0 21 6.0 M8 0.20

MKFL005 25 95 75 8.0 8.0 16 10 60 24.5 22.5 6.0 M8 0.24

MKFL006 30 112 85 9.0 9.0 18 13 70 27.0 24.5 6.5 M10 0.35

MKFL007 35 122 95 10.0 10.0 20 13 80 29.5 26.5 7.0 M10 0.50

  All measurements are in millimeters. When ordering please use the catalogue numbers.

MUFL - Mini stainless steel flange bearings

Item No. d a e i g l s b B1 n d5 Bolt size Weight  
[kg]

MUFL000 10 60 45 5.5 5.5 11.5 7 36 17.5 4.0 17 M6 0.06

MUFL001 12 63 48 5.5 5.5 11.5 7 38 17.5 4.0 19 M6 0.07

MUFL002 15 67 53 6.5 6.5 13 7 42 18.5 4.5 22 M6 0.10

MUFL003 17 71 56 7.0 7.0 14 7 46 20.5 5.0 25 M6 0.13

MUFL004 20 90 71 8.0 8.0 16 10 55 24.5 6.0 30 M8 0.20

MUFL005 25 95 75 8.0 8.0 16 10 60 25.5 6.0 36 M8 0.24

MUFL006 30 112 85 9.0 9.0 18 13 70 26.5 6.5 42 M10 0.35

MUFL007 35 122 95 10.0 10.0 20 13 80 29.5 7.0 48 M10 0.50

All measurements are in millimeters. When ordering please use the catalogue numbers.

MKFL - Mini stainless steel flange bearings

with eccentric collar lock

with set screw lock



BEARING UNITS

13CUSTOMISATION IS OUR STANDARD

MKP - Mini stainless steel pillow block bearings

Item No. d h a e b s g W B n Bolt size Weight  
[kg]

MKP000 10 18 67 53 16 7 6 35 17.5 4.0 M6 0.07

MKP001 12 19 71 56 16 7 6 38 17.5 4.0 M6 0.09

MKP002 15 22 80 63 16 7 7 43 18.5 4.5 M6 0.13

MKP003 17 24 85 67 18 7 7 47 20.5 5.0 M6 0.16

MKP004 20 28 100 80 20 10 9 55 24.5 6.0 M8 0.23

MKP005 25 32 112 90 20 10 10 62 25.5 6.0 M8 0.29

MKP006 30 36 132 106 26 13 11 70 26.5 6.5 M10 0.45

MKP007 35 40 150 118 26 13 13 80 29.5 7.0 M10 0.59

  All measurements are in millimeters. When ordering please use the catalogue numbers.

MUP - Mini stainless steel pillow block bearings

with set screw lock

Item No. d h a e b s g W B1 n d5 Bolt size Weight  
[kg]

MUP000 10 18 67 53 16 7 6 35 17.5 4.0 17 M6 0.08

MUP001 12 19 71 56 16 7 6 38 17.5 4.0 19 M6 0.09

MUP002 15 22 80 63 16 7 7 43 18.5 4.5 22 M6 0.13

MUP003 17 24 85 67 18 7 7 47 20.5 5.0 25 M6 0.16

MUP004 20 28 100 80 20 10 9 55 24.5 6.0 30 M8 0.23

MUP005 25 32 112 90 20 10 10 62 25.5 6.0 36 M8 0.29

MUP006 30 36 132 106 26 13 11 70 26.5 6.5 42 M10 0.45

MUP007 35 40 150 118 26 13 13 80 29.5 7.0 48 M10 0.59

  All measurements are in millimeters. When ordering please use the catalogue numbers.

with eccentric collar lock

with set screw lock



BEARING UNITS

CUSTOMISATION IS OUR STANDARD14

After removing the cover and the eccentric collar, push the 
bearing carefully onto the shaft without using any tools. 

Slide the eccentric ring on the shaft and turn it until it is 
inside the recess of the bearing. Then tighten the eccentric 
ring to the shaft by turning it clockwise. Be sure to use 
correct tools.

The eccentric ring is locked by tapping carefully with a 
punch in the hole of the eccentric ring. The grub screw is 
only to be tightened slightly. Be sure to use correct tools. 
When ensured, that the O-ring is seated correctly in the 
O-ring channel, the cover can be mounted.

On top of the housing is a stainless steel grease nipple 
installed for food grade grease filling. After installation of 
the housing, fill it with grease to lubricate the double lip 
seal and to prevent condensation and water intrusion. To be 
sure the housing is completely filled with grease, rotate the 
shaft while filling, and continue until the grease penetrates 
the oil seal ring. 

Mounting instructions
Waterproof NG bearing units



15CUSTOMISATION IS OUR STANDARD

BEARING UNITS

15CUSTOMISATION IS OUR STANDARD



BEARING UNITS

CUSTOMISATION IS OUR STANDARD16

N
G

 | 
20

22
 | 

UK

Copyright © 2022 BJ-Gear A/S. All product rights reserved. All data, 
illustrations, photos, drawings and statements are for general information 
only and subject to change without notice and should not be considered 
as a warranty or legal obligation of any kind.

BJ-Gear A/S
Niels Bohrs Vej 47 Phone  +45 87 40 80 80
DK-8660 Skanderborg, Denmark Email bj@bj-gear.com
VAT No. DK 10166470 Website www.bj-gear.com 


